FIZEE R IRI= ARy MR —VEZE RS EMX FRAKS KF1HHE

TAIEAE6 30 H (H) MEHTRIKHEE OESE%%/E.\?#%J 8:15 PG4 8:30

[ERE Az—h Ba—Fh
8:50 BRA UA—N T TS
9:00 REEZEESS
9:10 BIRE vr—N T Ty
ATy
KIE KB 2] 2 fiels gl
34 2 44 Fi s ast 8 10 MENERE
1| 9:30 34 0 Tt S 12 8 H—Fnisk
% L 22 2 I To-mc|] ¥ [ 13 10 132 TO-MC
6 8 0 14 4 Tt
B7 oy’
SRE T A 20| L FH FE e Eadl
8 10 FINBR IR 21 8 SRR ELZR
2 |10:40 15 7 JIAEEZ 16 7 Vel —
L 8 4 ] 26 To-Mc| I 24 3 1o TO
10 5 e 13 9 .
IRHR
AT oy
fieeld Kie Gl KB A el
2 31 B SR 7 17 BTt
3 | 12:00 0 25 RBFFN5L 6 20 TR A
5oL 7 14 Io82 To-MC| 2 I 2 26 18 TO-MC
6 12 - 18 20 S
B7 oy’
= SKET R 0] TS L 5]
3 23 PR FH— 4 16 PR
4 | 13:10 6 24 FINRR B 1 16 A AR 5L
2% Lo %) ® Mo ® Lo 4! [0
12 18 e 10 14 Sy
IRHR
N =D
KiE "L 2 fi N2 B
30 2 N 14 14 B Tt
5 | 14:30 29 3 —Fnik 12 5 & e
9% [ 20 2 112 To-mc|] [ 21 0 12 TO-MC
19 5 o 22 6 Tt
B7 oy’
ShE7 B L FH 2 ) TEH B
10 10 KB 7 16 IRFMELE
6 | 15:40 8 11 )R 5 2 12 6 5[] P
48 [ 18 c 1 34 TOMC 32 [ g 19 ] 56 O
12— 8 KB o 22 e




